

Summary of Bids Received

Project: Microsurfacing 2016
Section: 16-00080-61-RS
Description: Application of two-pass microsurfacing wearing course
CPMS Pin: B-01082
Let Date: 10/18/2016

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
AC Pavement Striping Company	695 Church Rd.	Elgin, IL 60123	Bid Bond	\$980,070.05	-22.05%	-\$277,161.44
Microsurfacing Contractors, LLC	11745 R. Lackland Rd.	St. Louis, MO 63146	Bid Bond	\$1,037,572.36	-17.47%	-\$219,659.13
Engineer's Estimate				\$1,257,231.49		

Design	_____	IDOT(2)	_____	Contract Bidder	_____	PJT then Plan Rack	_____
Finance	_____	Bid Tab File	_____	Resident Eng.	_____	Administrative Assistant	_____
Construction	_____	Project File	_____	Request By Mail	_____	Mgr Capital Programming	_____

Bid Tabulation

Project: Microsurfacing 2016
Section: 16-00080-61-RS
Description: Application of two-pass microsurfacing wearing course
CPMS Pin: B-01082
Let Date: 10/18/2016

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		AC Pavement Striping Company		Microsurfacing Contractors, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	579.0	TON	\$120.00	\$69,480.00	\$95.00	\$55,005.00	\$92.70	\$53,673.30
2	40800029	BITUMINOUS MATERIALS (TACK COAT)	3,099.0	POUND	\$0.01	\$30.99	\$1.50	\$4,648.50	\$0.01	\$30.99
3	67100100	MOBILIZATION	1.0	L SUM	\$69,200.00	\$69,200.00	\$18,000.00	\$18,000.00	\$85,000.00	\$85,000.00
4	70300100	SHORT-TERM PAVEMENT MARKING	43,816.0	FOOT	\$0.50	\$21,908.00	\$0.55	\$24,098.80	\$0.40	\$17,526.40
5	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	19,763.0	SQ FT	\$1.00	\$19,763.00	\$0.90	\$17,786.70	\$0.95	\$18,774.85
6	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,019.2	SQ FT	\$2.00	\$2,038.40	\$1.75	\$1,783.60	\$1.25	\$1,274.00
7	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	73,310.0	FOOT	\$0.25	\$18,327.50	\$0.13	\$9,530.30	\$0.16	\$11,729.60
8	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	35,204.0	FOOT	\$0.30	\$10,561.20	\$0.17	\$5,984.68	\$0.21	\$7,392.84
9	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,482.0	FOOT	\$0.40	\$1,392.80	\$0.23	\$800.86	\$0.33	\$1,149.06
10	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	1,497.0	FOOT	\$0.50	\$748.50	\$0.30	\$449.10	\$0.40	\$598.80
11	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	5,055.0	FOOT	\$0.75	\$3,791.25	\$0.62	\$3,134.10	\$0.75	\$3,791.25
12	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	303.0	FOOT	\$1.50	\$454.50	\$1.50	\$454.50	\$2.00	\$606.00
13	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	16,070.0	FOOT	\$0.75	\$12,052.50	\$1.05	\$16,873.50	\$1.19	\$19,123.30
14	78001120	PAINT PAVEMENT MARKING - LINE 5"	32,287.0	FOOT	\$0.30	\$9,686.10	\$0.21	\$6,780.27	\$0.50	\$16,143.50
15	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	782.0	EACH	\$20.00	\$15,640.00	\$15.00	\$11,730.00	\$13.00	\$10,166.00
16	LC400202	SEAL COAT	14,942.0	SQ YD	\$3.00	\$44,826.00	\$0.99	\$14,792.58	\$4.50	\$67,239.00
17	LC400205	MICRO-SURFACING, TWO PASSES	109,855.0	SQ YD	\$4.25	\$466,883.75	\$4.27	\$469,080.85	\$3.25	\$357,028.75
18	LC600200	INSTALL SURVEY MONUMENTS	10.0	EACH	\$800.00	\$8,000.00	\$675.00	\$6,750.00	\$650.00	\$6,500.00

Bid Tabulation

Project: Microsurfacing 2016
Section: 16-00080-61-RS
Description: Application of two-pass microsurfacing wearing course
CPMS Pin: B-01082
Let Date: 10/18/2016

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		AC Pavement Striping Company		Microsurfacing Contractors, LLC	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
19	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	1,019.2	SQ FT	\$10.00	\$10,192.00	\$7.45	\$7,593.04	\$16.00	\$16,307.20
20	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	73,310.0	FOOT	\$1.50	\$109,965.00	\$1.22	\$89,438.20	\$1.00	\$73,310.00
21	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	2,917.0	FOOT	\$2.00	\$5,834.00	\$1.52	\$4,433.84	\$2.50	\$7,292.50
22	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	3,482.0	FOOT	\$2.50	\$8,705.00	\$1.82	\$6,337.24	\$2.75	\$9,575.50
23	LC780024	GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 8"	1,497.0	FOOT	\$4.00	\$5,988.00	\$2.44	\$3,652.68	\$3.85	\$5,763.45
24	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	5,055.0	FOOT	\$5.00	\$25,275.00	\$3.70	\$18,703.50	\$4.00	\$20,220.00
25	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	303.0	FOOT	\$10.00	\$3,030.00	\$8.00	\$2,424.00	\$16.00	\$4,848.00
26	LR400300	BLOTTER AGGREGATE	50.0	TON	\$45.00	\$2,250.00	\$25.00	\$1,250.00	\$22.00	\$1,100.00
27	X0326220	MICRO-SURFACING RUT FILLING	1,000.0	FOOT	\$14.00	\$14,000.00	\$15.00	\$15,000.00	\$15.00	\$15,000.00
28	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	28,288.0	SQ FT	\$2.00	\$56,576.00	\$1.40	\$39,603.20	\$1.25	\$35,360.00
29	X3200001	BUMP REMOVAL	50.0	EACH	\$200.00	\$10,000.00	\$150.00	\$7,500.00	\$100.00	\$5,000.00
30	X4400196	HOT-MIX ASPHALT SURFACE REMOVAL, SPECIAL	6,887.0	SQ YD	\$18.00	\$123,966.00	\$5.15	\$35,468.05	\$5.00	\$34,435.00
31	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$34,600.00	\$34,600.00	\$25,000.00	\$25,000.00	\$70,000.00	\$70,000.00
32	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	758.0	EACH	\$40.00	\$30,320.00	\$32.00	\$24,256.00	\$37.50	\$28,425.00
33	Z0004005	FIBER ASPHALT	20,873.0	POUND	\$2.00	\$41,746.00	\$1.52	\$31,726.96	\$1.59	\$33,188.07
Bid Total						\$1,257,231.49		\$980,070.05		\$1,037,572.36

Return Bid Details

Project: Microsurfacing 2016
Section: 16-00080-61-RS
Description: Application of two-pass microsurfacing wearing course
CPMS Pin: B-01082
Let Date: 10/18/2016

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
1	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	579.0	TON	\$120.00	\$69,480.00	\$92.70	\$95.00	\$93.85
2	40800029	BITUMINOUS MATERIALS (TACK COAT)	3,099.0	POUND	\$0.01	\$30.99	\$0.01	\$1.50	\$0.76
3	67100100	MOBILIZATION	1.0	L SUM	\$69,200.00	\$69,200.00	\$18,000.00	\$85,000.00	\$51,500.00
4	70300100	SHORT-TERM PAVEMENT MARKING	43,816.0	FOOT	\$0.50	\$21,908.00	\$0.40	\$0.55	\$0.48
5	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	19,763.0	SQ FT	\$1.00	\$19,763.00	\$0.90	\$0.95	\$0.93
6	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	1,019.2	SQ FT	\$2.00	\$2,038.40	\$1.25	\$1.75	\$1.50
7	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	73,310.0	FOOT	\$0.25	\$18,327.50	\$0.13	\$0.16	\$0.15
8	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	35,204.0	FOOT	\$0.30	\$10,561.20	\$0.17	\$0.21	\$0.19
9	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	3,482.0	FOOT	\$0.40	\$1,392.80	\$0.23	\$0.33	\$0.28
10	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	1,497.0	FOOT	\$0.50	\$748.50	\$0.30	\$0.40	\$0.35
11	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	5,055.0	FOOT	\$0.75	\$3,791.25	\$0.62	\$0.75	\$0.69

Return Bid Details

Project: Microsurfacing 2016
Section: 16-00080-61-RS
Description: Application of two-pass microsurfacing wearing course
CPMS Pin: B-01082
Let Date: 10/18/2016

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
12	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	303.0	FOOT	\$1.50	\$454.50	\$1.50	\$2.00	\$1.75
13	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	16,070.0	FOOT	\$0.75	\$12,052.50	\$1.05	\$1.19	\$1.12
14	78001120	PAINT PAVEMENT MARKING - LINE 5"	32,287.0	FOOT	\$0.30	\$9,686.10	\$0.21	\$0.50	\$0.36
15	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	782.0	EACH	\$20.00	\$15,640.00	\$13.00	\$15.00	\$14.00
16	LC400202	SEAL COAT	14,942.0	SQ YD	\$3.00	\$44,826.00	\$0.99	\$4.50	\$2.75
17	LC400205	MICRO-SURFACING, TWO PASSES	109,855.0	SQ YD	\$4.25	\$466,883.75	\$3.25	\$4.27	\$3.76
18	LC600200	INSTALL SURVEY MONUMENTS	10.0	EACH	\$800.00	\$8,000.00	\$650.00	\$675.00	\$662.50
19	LC780020	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LETTERS AND SYMBOLS	1,019.2	SQ FT	\$10.00	\$10,192.00	\$7.45	\$16.00	\$11.73
20	LC780021	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 4"	73,310.0	FOOT	\$1.50	\$109,965.00	\$1.00	\$1.22	\$1.11
21	LC780022	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 5"	2,917.0	FOOT	\$2.00	\$5,834.00	\$1.52	\$2.50	\$2.01
22	LC780023	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 6"	3,482.0	FOOT	\$2.50	\$8,705.00	\$1.82	\$2.75	\$2.29
23	LC780024	GROOVED THERMOPLASTIC PAVEMENT MARKING - LINE 8"	1,497.0	FOOT	\$4.00	\$5,988.00	\$2.44	\$3.85	\$3.15
24	LC780025	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 12"	5,055.0	FOOT	\$5.00	\$25,275.00	\$3.70	\$4.00	\$3.85

Return Bid Details

Project: Microsurfacing 2016
Section: 16-00080-61-RS
Description: Application of two-pass microsurfacing wearing course
CPMS Pin: B-01082
Let Date: 10/18/2016

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
25	LC780026	GROOVED THERMOPLASTIC PAVEMENT MARKINGS - LINE 24"	303.0	FOOT	\$10.00	\$3,030.00	\$8.00	\$16.00	\$12.00
26	LR400300	BLOTTER AGGREGATE	50.0	TON	\$45.00	\$2,250.00	\$22.00	\$25.00	\$23.50
27	X0326220	MICRO-SURFACING RUT FILLING	1,000.0	FOOT	\$14.00	\$14,000.00	\$15.00	\$15.00	\$15.00
28	X0327980	PAVEMENT MARKING REMOVAL - WATER BLASTING	28,288.0	SQ FT	\$2.00	\$56,576.00	\$1.25	\$1.40	\$1.33
29	X3200001	BUMP REMOVAL	50.0	EACH	\$200.00	\$10,000.00	\$100.00	\$150.00	\$125.00
30	X4400196	HOT-MIX ASPHALT SURFACE REMOVAL, SPECIAL	6,887.0	SQ YD	\$18.00	\$123,966.00	\$5.00	\$5.15	\$5.08
31	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$34,600.00	\$34,600.00	\$25,000.00	\$70,000.00	\$47,500.00
32	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	758.0	EACH	\$40.00	\$30,320.00	\$32.00	\$37.50	\$34.75
33	Z0004005	FIBER ASPHALT	20,873.0	POUND	\$2.00	\$41,746.00	\$1.52	\$1.59	\$1.56
Bid Total						\$1,257,231.49			